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Table 6:

Rate Scenarios by Percent Stock, Withdrawal Rate, and Years in Retirement

mxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx
“xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx
2
oo.wxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx
wn
QIR R R R R R R R R R R R R R R R R R R ] E R |5
QXXX (X (XXX R (RES SRR EE] RS S S TR SIS IS IS IS IS IS IS IS IS IS S S
mxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx
”XXxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx
X
Qx| %% |%|%]|x|x|X|X|X| XX KB =KX X% &K | XX
<
QXXX (B B (BB ( | ]| B | BT B | B B B B (BB S | BB BB B BTSS0S S IS S S S S
QIS S KRS S RRES TS SIS SIS SIS SIS TS IS TS IS IS IS IS IS IS IS IS IS IS IS IS S S
mxxxxxxxxxxxxxxxxxxxxxmmxxxxxxxxxxxxx
% x| x x| x| x x| x| % ||| BB BB BB (B BB BB B BT | B T BT T BT |
SN
S| Bl || B (Bt | | B | BT [ () B | BT B T BB | B BB BB B S (S S S S TS S S S
wn
R R R R R R R RES S S TR TS SIS SIS IS IS IS IS IS IS IS IS IS IS IS IS IS IS IS S S
QIS ISISISISIS IS IS ISES IS SIS IS TS IS IS IS IS TS IS IS TS IS IS IS IS IS IS TS TS SIS IS S S
S x| % K| = | % [% | x| K| B| ||| B| BB (BB | Bl BB BB B BB S (S (S (BSOS (S (XS
o | X B | B (B (B | B | (B () BT | B | B BT B BT B (BTSS0S [BIES [S TS IS TS IS SIS IS IS IS S S S
X
| QBRI R R (EE]S S S IR TS IS IS SIS IS IS IS IS IS IS IS IS IS SIS IS SIS IS S S
m
BIS IS IS RS S SIS ISTS IS IS TS IS TS IS IS IS IS IS TS IS TS IS IS IS IS IS IS IS TS SIS IS S S
SUS SIS ISISIS TS ISISTS TS IS IS TS IS IS IS IS IS IS TS IS IS IS TS IS IS IS IS IS IS IS IS IS S S
28] |xlz].]z %8l | 2 | Bl 2 %l 8l | 2
HEBHEEEE S|la| 8|8 S| 3| 8|8 3|2 8|8
d/ w | wiwuv w| v wiwuv
o O o) O o O o) O
2E| - [(E(E|D2 2|3l = S[E] QD =211 D = 2l=|SlE] QY -2
S|s|c|a|als|s alol<c|a|al sl slelc|ala|s| s alols|a|a £l & 2|
= N BB BRI P R e s T R P S D B B M R S B S I M e
= B ENE R R EN RN BHEEFEEEEEE AR R E RE
g|= Slo|lo|s|s|l|xn|2|2] 5 @@l S|l 5| E|H| =259 &ls| S|8|HR| > 21502 S|l la|>|[>
G|(S|ala|s|s|=|>|E|E|S|alalslgl=|>|E|E|S|o|als|sl=|>|EE|S|a|al £|£|=|>|E|E
()
[~
£
S
s %0T %0¥ %09 %08
a
S
S
wv

v’ Failure rate 15% or less for all interest rate scenarios and historical averages.

X

Historical average failure rate 15% or less, but this is not true for all interest rate scenarios.

% Failure rate more than 15% for at least one of the interest rate scenarios.



